15 Homework 10 (due Dec. 8) Name: Soll U Tlan S

The purpose of this homework is to explore some aspects of two-person zero-sum games.
Reading: Sections 9.1 — 9.5

1. Problem set 9.1, question 1, part c) (page 343). [Just part c)]
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a
2. Problem set 9.1, question 2, part a) (page 343). [Just part a)]
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3. Problem set 9.3, question 1, parts a) and b) only (page 352).
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4. Problem set 9.3, question 2, parts c) and €) only (page 353).
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5. Problem set 9.3, question 3 (page 353)
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6. Problem set 9.4, question 2 (page 359)
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7. Problem set 9.4, question 4 (page 360)
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8. Problem set 9.4, question 6 (page 360)
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9. Problem set 9.5, question 5, parts c) and d) only (page 369).
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10. Problem set 9.5, question 16 (page 370)
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11. This question relates to Problem set 9.1, question 1, part €).

o Write down the payoff matrix for this game (Colonel Blotto is player 1).
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e Write down the linear programming problem that Colonel Blotto has to solve, to

determine his optlma.l secunty mixed strategy.
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o Using any method you wish (LP Assistant, Solver, simplex by hand, magic,...),
determine Colonel Blotto’s optimal security mixed strategy, and the value of the

game.
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